Fron

t Panels

Screw-mounted front panel kits include handle and identification panel. Available in 3U, 6U and 9U heights and in three widths: 4HP (0.788"),
8HP (1.588”) and 12HP (2.388"). All mounting hardware, including board mounting support bracket and hardware also included. Brushed
aluminum panel with clear irridite plating matches standard finish for Vector packaging products.

Captive Scre

Retainer Sleeve

Non EMC

)
4
5}
©
S
Qo
>
n

Front Panels, Ejector Style, Type I, Il o P - M e

‘L' - Bracket

FPEO4-3U
FPEO8-3U
FPE12-3U
FPEO4-6U
FPEO8-6U
FPE12-6U
FPEO4-9U
FPEO8-9U

Front

PC B
@
Part# DESCRIPTION A
3U X 4HP 5.06"
3U X 8HP 5.06"
3U X 12HP 506"
6U X 4HP 10.31”
6U X 8HP 10.31"
6U X 12HP 10.31”
9U X 4HP 15.56”"
9U X 8HP 15.56"
9U X 12HP 1556

FPE12-9U

Panel

oard

B

0.788"
1.588”
2.388"
0.788"
1.588”
2.388"
0.788"
1.588”
2.388"

© D

N/A  N/A
N/A  N/A
N/A  N/A
3.50" 5.25"
3.50" 5.25"
3.50" 5.25"
3.50" 5.25"
3.50" 5.25"
3.50" 5.25"

-Add suffix “B” to part # for panels without center brackets mounting, e.g. FPE04-6UB

Front Panels, Fixed Handle Style, Type V
Type V, 3U Fixed Handle Style
. . Ketainer sieeve B> - -
gl‘\:2re5v3( 1 Capilveﬁ%( K Y
M2.5 x 8 Flat / ~ o 5 m2sx 10 - [0.95"
Head Screw .. Filister Head o
|| Screw i

ID Plate:

M2.5 x 14 Filister

Head Screw

Plastic Handle

Part # DESCRIPTION A

FP04-3U
FP08-3U
FP12-3U
FP0O4-6U
FP08-6U
FP12-6U
FP04-9U
FP08-9U
FP12-9U

3U X 4HP
3U X 8HP
3U X 12HP
6U X 4HP
6U X 8HP
6U X 12HP
9U X 4HP
9U X 8HP
9U X 12HP

5.06”

5.06”

5.06"
10.31”
10.31”
10.31”
15.56”
15.56”
15.56”

B

0.788”
1.588”

2.388"

0.788" “
1.588" \ ;
2.388" x R
0.788" \/ \ P - L_]0.95"

1.588” *eea \' | - —

M2.5 x 0.45
Hex Nut

2.388”

-Fixed Handle Style front panel kit includes upper and lower handles (lower only on 3U versions)
that extend across the full width of the panel

Specification subject to change without notice

www.vectorelect.com

800-423-5659

--0.61"

bt 0.64“




Non EMC DIN-Based VectorPak'™Subracks

.

Custom Front Panels

Whether you need standard panels,
modified, or custom front panels, we
have manufacturing capabilities to
support your needs. Vector
Electronics’s custom aluminum front
panels offer a wide range of design
opportunities. Cost effective punch-
ing for volume production.

Customization :

» Panel cutouts
 Silkscreening

» Powder coating
» Special Finishing

94300008

Filler Panels/Blank-off Plates
Features

Standard Filler Panels

+0.000

3U FILLER PANELS
+0.000

+0.000

950000028

Captive sleeves/screws
are included with all

Covers unused slots
Improves air flow

e Mounting hardware

VectorPak™ filler panels included
and also sold separately

in a hardware kit:

P/N HD99-1
Includes Qty
Black plastic sleeve 48
M2.5 x 11 mm,nickel 48
plated steel screw

Typical slot width is 0.800” (4HP)
Material: 6063T5, extruded
brushed Aluminum with clear
Irridite finish.

Each Filler Panel Kit Includes

4,8 or 12HP panel (0.8”, 1.6” or 2.4")

M2.5 Nickel plated mounting screws with ‘captive’
sleeves

U Part Number Part Number Part Number

4HP 8HP 12HP
3 5231304-07 5231308-07 5231312-07
6 5261304-07 5261308-07 5261312-07
9 5291304-07 5291308-07 5291312-07

www.vectorelect.com

0.788 -0012 1,588 -0.012 2.388-0012__
o 1T T - ™ I i
91:::::!:‘ =
o
|
° r—f© S+ =)
Qi
=
]
0.130" x 0.230 J
Obround
oo~
=
©Q H
S o p,
+ o
~ 2
-4 ~
<
w
0.294™
e
=} . & ® °
i
029471 |
4HP gwp o ~l 12 HP
6U FILLER PANELS
4 r—1-© © =)
bl
o
5 /
oo . 0.130 " x 0.230 /
85 5 Obround
[=N~=] ~
N PN = . — DS —-
= R 2 - I
9
=]
| 0294 \i‘:
| —— Y
!
o L{o o ° o =
;
0.294™ __}
4 HP 8HP 12 HP
800-423-5659




TOF

IN349C
ELECTRONICS & TECHNOLOGY, INC
o Q;es
2 mzst lﬂ k— 2x.294 12HP ID Plate
1
-F - 6OO
<o oollaoas
|1
- >\
! —Top Handle 8HP Handle
1 only for 6U & 9U
}
1’/ f @@jao@ Optional
H I ' for 6U & 9U
I 4HP Handle i High Panel
! PANEL i'-‘"- Shown 12HP VECTOR P/N# HD102
" n HEIGHT A Bottom Handle
NN T ) D EEY 5.067 Configuration
N |
| & ool M2.5x8Fiat
i ' Head Screw
1)
7 R_\ M2.5 x 10
f f / Filister Head Screw
I
‘i‘li‘l — 110 x.150 Retainer Sleeve @ ©
1! OBROUND S
i
(sha] o% 'p 0O 5!1{
ol i
i
2 X.294 —m=— L o103

'L' Brackets
—— B il | —
M2.5x 16 I = -340"7
PANEL Filister Head Screw — 277
WIDTH B N ] 'L' Bracket
4 HP 0.788 Detail
8 HP 1.588 Washer PC Board 37272
12HP 2.388 Plastic Handle

.285 ——
™ ] }<— 240

4 hid R 454
’(\:Az‘st.x ”S M2.5 x 0.45 .6;15 - ¢ ;L/BI
aprive screw Hex Nut \EE/
T Hb
.170
11115, VANOWEN STREET, NORTH HOLLYWOOD, CA-91605
TOLERANCE : .XXX + .010

www.vectorelect.com



OR

ELECTRONICS & TECHNOLOGY, INC

Wy e/ oW mj

11115 Vanowen Street, North Hollywood,CA 91605
Phone: (818) 985-8208 Fax: (818) 985-7708

IN399

1 | [
0200x0.200 | W1\l
CUTOUT — ! !

0.150 RAD.
OO75>‘ ..........

Ejector Knob Front Panel
-~

ID Plate

Captive Screw

Retainer Sleeve

PC Board
‘L' - Bracket

FPEO4-6U PANEL WILL HAVE TWO CENTER HOLES FOR OPTIONAL 3U 'L' BRACKETS.
ORDER FPEO4-6UB FOR PANEL WITHOUT THE CENTER HOLES.




‘\ Y MOSCHIP RU g)?ﬂ%?aﬂ:wx KOMMOHEHTOB +7495668 12 70

© BMECTE Mbl CO3LLAEM BYOYLLEE B8 info@moschip.ru

O6LLecTBO C orpaHMYeHHON oTBETCTBEHHOCTBIO «MocHuny WMHH 7719860671 / KIMNM 771901001
Appec: 105318, r.Mockea, yn.LLlepbakoBckas 4.3, odmc 1107

[aHHbIn KOMMNOHEHT Ha TeppuTopun Poccuinickon depepauumn

Bbl MoxeTe npuobpectu B komnaHun MosChip.

[lnsa onepaTtuBHOro ocdopmnenus 3anpoca Bam HeobxoomMmo nepenT No faHHON CChISKe:

http://moschip.ru/get-element

Bbl MoxeTe pa3mecTuTb Y Hac 3aka3 and nboro Bawero npoekTa, 6yab To
cepuiiHoe Npomn3BOACTBO MM pa3paboTka eguHUYHOro npubopa.

B Hawem acCcCopTnMeHTe npencTasiieHbl Begywmne MmpoBblie NMPoOnN3BOANTENIN aKTUBHbIX U
NacCUBHbIX 3JTIEKTPOHHbIX KOMIMOHEHTOB.

Hawen cneumanusauuen sBnseTcs NOCTaBKa 3N1EKTPOHHOMW KOMMOHEHTHON 6a3bl
OBOWHOro Ha3HayeHus, npoaykummn Takmx npounssoantenen kak XILINX, Intel
(ex.ALTERA), Vicor, Microchip, Texas Instruments, Analog Devices, Mini-Circuits,
Amphenol, Glenair.

CoTpynHMyecTBO € rnobanbHbIMU OUCTPUOLIOTOPaMN 3NEKTPOHHBIX KOMIMOHEHTOB,
npegocTraBnseT BO3MOXHOCTb 3aKa3blBaTb 1 MOfly4aTb C MEXAYHAPOOHbIX CKNaaos
npakTuyecku nobon nepeyeHb KOMNOHEHTOB B ONTUMarbHble aAnsa Bac cpoku.

Ha Bcex aTanax pa3paboTKu 1 NPOM3BOACTBA HalLW NapTHEPbI MOTYT NOMy4YnTb
KBanumunpoBaHHy NOAAEPXKY OMNbITHbIX UHXEHEPOB.

Cuctema MeHeXMeHTa KayecTBa KOMNaHum oteevaeT TpeboBaHNAM B COOTBETCTBUM C
rOCT P MCO 9001, TOCT PB 0015-002 n 3C P, 009

Odomc no pabote c OPUANHECKUMU NTULLAMMU:

105318, r.Mockea, yn.lWepbakosckaa a.3, ocdomc 1107, 1118, AL, «LUepbakoBcKkuniny»
TenedoH: +7 495 668-12-70 (MHOrokaHanbHbIN)
dakc: +7 495 668-12-70 (006.304)

E-mail: info@moschip.ru

Skype otaena npogax:
moschip.ru moschip.ru_6
moschip.ru_4 moschip.ru_9


mailto:info@moschip.ru

